The instrumeny used (o cheg

k ”ll‘ hl‘
(A) Sound Fork

4 g is
Aring o1 g perso?

Tunning Fork
(C) Audio Fork () Tu! s
. (s - (D) All of above
> Ulbd RN A4 69 N4 . X
" y s1dq NRQU 3 5y g4 QUAL D T
(A) 216-3 514 ‘ 15
‘m-{l% 515
(C) 044l 51 L fy) Gualsd dHId
2. 0.45% Normal saline jg 4 v A
L ————¥De of so1ution
(A) Iy potonic Solution () Hypertonic Solution
(C) Isotonic Solution ) \’t:r)' Low Hypotonic Solution
A 0.45% A A 2 3qq MERY alleyaiy o 2
(A) Hypotonic solution é.lqlﬂalv{lg Q{]@J‘QH (B) slau2i-ls akg&l'i
(C) 2002115 Aleyan D a4l dl erulei-l :leyan
3. The full form of T.B.A. is -

(A) Trained Birth Attendant
(C) Total Birth Attendant

\/z. T.B.A. gasl{go?
(A) 26+ 612 2232

(B) Trained Birth Assistant
(D) Temporary Birth Assistant

(B) aﬁvs oy vi{lze-e

10) 2lect o 2332 (D) 234 o2l 222

4. Which colour dustbin is used to discard rubber catheter, LV, set ctc?

(A) Yellow (B) Green
(€ Red (D) Blue

4. 012 3923, 208 <l Az Bau su21-l [std 34 56 Qopay sar-u 20 B ?

)( A) Qv (B) dlef]
L AO) i (D) vey
5. Which organism is responsible for Measles?
(A) Paramaxico Virus (B) Versella Zoster Virus
(C) Veriola Virus (D) HIV Virus
AT 2 (M) wdH gaiser 20T RaH 54 O 7
_AA) QAR5 uard (B) ARAc A2 cuza
(C) dR>tlal atyy (D) U208, ). Ry
6. This Vaccine is given by subcutancous route
(A) Measles (B) BCG .
(C) Pentavalent (D) Rota Virus
/ 21t 22017 Avtsy-lazt 32 gL 2 Ad 8 7
\/(4) Hnet (2119) (B) ‘:ﬂ%ﬂ‘@
(C) 4-edd-2 (D) Riet wuR™
~T.0.
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ap i A person jg universal Donor?
1o
Which of the following blood £

(B) A
(A) AB D) O —ve
(C)yB A WECEEET (ederen) sdap o 7
7. N WA g veysogu el alsat (B) A
(A AB (D) O —ye
«“yn  during Antenagy) Period (Preganancy) is called
8. Straight sear seen on abdom¢ (B) Linea Alha
(A) Cloasma (D) None of above
() Striae (.'.-;nid;'l..unll - - qAal Hoeqy Gay 25199 ﬂ 53 6 ?
8. AAQRAL EU1 Hert \/(BS Aot o
(A) &<1‘l:?lw13 (D) sl At s 5L 51 e )
9, b ‘\tjl)ljnl(:ll(jjlf?ltl. Vaccine given to the mother Conceive second Pregnancy within three years of
first Pregnancy?
(A) Td Booster (B)Td -y
(©)Td -2 r (D) All of above
9. HLAL A8 QAL 4o % 3 AAMHIRA IR 53 S 59 LA 50 S B 8 ?
g A A, 022 B) .41
() A.4.-2 (D) Bulsd daun
10. Which part of fetus is felt in vertex presentation
(A) Sacrum (B) Occiput
(C) Mantum (D) Acromion Process
A0 aZailg2ud G cud fleaddl sl aya slaaud?
' (A) 43w _AB) 253y
(C) Hreu (D) x50 u NAy
11. After delivery when Lochia serosa is secreted?
(A) during 3 to 4 days (B) during 4 to 10 days
(C) from 15 week to gth week
11.

(D) None of above
9 ?

B) 44l 10 Ray Jdl

(D) 2l eaida AR NA Ag w4
d by using Shakir’s Tape?

CIECAEN YR Aelladlu Tzen una ued) TR
(A)34l 4 Ray yHl

(C) Tageanfly of) ¢ o flug yH
12. What cay he measuye

(AyMUNHC

(B) MUFC
(C)MURC (D) MUAC
12, Al Ui Shakipg Tape -1 Guaioy -‘Z\L RINCIRTE Ay 89 ?
MUHC (B) MUFC
(©) MURC

(D) MUAC
MDFHw :
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13. Which one is best test to detecy iron (lt‘ﬁcicncy'.’ .
(A) Serum Serotin -(B) Gerum FCrrlt.lﬂ-
(C) Serum Ironic (D) Serum Creatinin
3. A 3810240 D252 529 w2 032 332 Ll B 7
(A) Ay ARAAA () 2024 52121
(€) Ru 2wl AD) A2 BAAUS
14. What is floating tip portion of Ice Berg theory?
(A) Clinieal Cases (B) Dead Casces
(C) Undiagnosed Cases (D) Pending Cases
4 2 ee QaAdui sadlo Ay Yl Yeula p?
(A) sel-llsa 30 (B) 38 3l
Ot serl 3l (D) U-{lat 3afla
15. How many total tablets in oral contraceptive pill’s packet?
(A) 28 tablets (B) 25 tablets
(C) 30 tablets (D) 31 tablets
5. ke s2a@da et 21 A32ui dag 324 alefladl 2ud © ?
Q) 28 204l » (B) 25 24
(C) 30 2uioll : (D) 31 21l
16. How many total does of Vit-A given till 5 years of age ?
(A) 8 dose f (B) 7 dose
(C) 9 dose (D) S dose
16.  uia 3l cunsd ge 3zan Q- i o U ASA ?
(A) 8 3l (B) 7 8l
€79 1 (D) 5§12
17. The chest comes forward in rickets is called
(A) Keiz Chest (B) Blow Chest
(C) Pegion Chest (D) All of above
» Aszaul o1l w10 Gual] oy 43 ERE N
(A) 58% 3ze (B) 6cll A2
(C) leou A2 /D) Bust
18. Fear of water is called
(A) Hydrophobig (B) Aerophobia
(C) Watershed (D) Agarophobia

A8 el ay ofls qd) qg 513 4587 ‘
AT a8 Q16 . (B)AAsida

C N 3 o ) 2}
(C) 223 (D) 2zl
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19, Which of the follow jcc

(A) Breast feeding ])l‘.;lﬂl‘c‘

() Communicable d'“‘:-“;.a ¢ A
19, st 14 Anfl 33l AR

(A) a2 5180 Usdle
- () sgflioa Rl y
20. What is mean by dysentrd:
(\) hard Stool
(C) Stool with hlood
0. dafedy?

in paby rl"C‘n(lly Hospita) innitj

ative (BF} 1))
al program me
(D) Adolescent care

W) g oy 4 9
B) Vatetey siiayy
D) % &9 25

(B) Nation

J)lélqﬂi

(B) l’:\inful Defecation

(D) Green Stool

B U85 39134
(A) Hard stool 81é R4 (D) 9&1 B
\/,l(‘) e dreas ackpot sign seen in which diseageo
21. Mecewan sign and Cra (B) Meningitis
(A) Rickets (D) Hy .
EC) TCt:ln;S st Sule s 8 5L A2 R i) g ?
‘/;;_ Hzﬂqfl‘%ll 1A _B) Alon Sy
e D) 1525 dx
2. ﬁ::l Si:::’ is a characteristic of which disease? . -
) (A) Kwashiorekar (B) Poliomyelitis
(C) Rickets (D) TB
22. A ALY sUL A2, g © ? |
| (A) sz 52 AB) Wdlulmuai§
(€) Aden (D) 8.6,
23, Which injection given to newborn to prevent bleeding?
(A) Calcium Gluconate (B) Vitamin K
(C) Methargin (D) HCL
3. i odLflot mestaan W2 sy SR s ey 21d ¢9 ?
(A) Beflum sy giAe AB) Qefl-3
(€) Wazegn (D) Y. A .
24, Thallesemia is a type of disorder
(A) Hemolytic disorder (B) Cardiac disorder

(C) Respiratary disorder

24, dazaflan 3 sy wsa NETEMRERT R

AR dilandly Daiids
(C) 2aflZed) Haoiiis

(D) Endocrinal disorder

(“} Slﬂm KA EER REY
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35, Thesecond name of Anterior fongapey ;o

(A) Lemda \_;l_;) -

(C) Forehead o W
a5, AR Slrtad ollog 4 g o 7

(A) Gust -
B \_AD) Guats A

ngel 561 A L, 8l Y ) o sy _ (g A0 aa B 7

2.
‘)ﬁ (A) EqUAAR _B]

(C) s (D) MR 81512
27, agwA s 56 AAALAAL Yo Y g
X (A) wrtdlAl eeus (B) %t A4
() HzS L gl \/(y)’wﬁéll @9
28, ‘Bl llu® el Al s AQ qug g 9
(A) 2hat-m Cradl (B) Q52 6152
AC) GHuis2 sl (D) HAeS dAlll
29. DA 2uda [seuniel s RASRA ) i) e 44l ?
(A) Guwzis Al /(B) 25dlz Aad)
(C) A%~ W, _ (D) sfd yall

30. 235’ Gu-AHel 518 Aldizll e 9 ?

) 2Ll wess ,\jg)’émaisz Al

(C) iz Al (D) Bagaei gerz
31wl el ouee’
(A) o1y + GA (B) bug, + God
) ol + GloA (D) bl + Glod

32. UM AL : o + 53

(A) U8R (B) M52
\ﬂC) MRS (D) MR
33,0 uua [aseqnidl 5§ sl vitdl 9 7
(A) udls (B) 512038
(©) A ) ey
340 weg il @R’ wos wxye WS Aoy [Rsey uae 5ol
(A) aceadl _iB) Ay
(C) YHeuR (D) J@AR[AeR

MDFHW - 2023 - B | 7



. 42‘|-
“nAd 7
. “I-i\l mH b (u) %31 8s
s’ 3[AUHE PR RS o )
1% WU g <

i D) £¢§ o, o
(A) yeell 2uad D) 48 g U 2Amg

N
(C) il culiat 't.
wd 9’

i 3 B (G c o o
R ‘qansi’ sul A L (B) G AR CARTRTTEY
(A) A AN D) Wz eqing ECEN
IR Sl
(<) -h:\&l. yaadege Wl
:“1 3 i adid’ A48 (B) 3,
19 an D
(A} HDAANW

(D) eyfy3,
h ) Gatenl .
YUO) GRS ,
{ 2 sl : tduell Al sy
38, QULYNHIR 2 \()3{ oud —_—
(A) 5430 Qs D)3l
A (D) U35 gy
0 X atsy ]
0, la-unidl e gl wos odidl. )
39, ,
() 32 K lf
) Aty “AD) Glec3
(€) A
W useylR nRAs 468 A2t g sl U B 7
(A) A% A3y 2451830 (B) %21 iR ey ul3yg

(C) $412 w8194 L) slgads s yay

41 Give feminine name of "Poet",
(A) Poety (B) Poctis
(C) Poetess ) Poctine
42, Which of the I‘nlluwing is not » type of pronoyp?
(A) Possessive Pronguy (B) Relaxing Pronoun
_AC) Relative Pronoun (D) demonstrative Pronoun
43, Replace the underlined word make gl‘:lm’-llically correct sentence. She finally finish her holiday
homew ory before the schoo) reopened, S
::: :"_"'.‘:"_"" ) Will finish
. . .um ‘nn,‘\ N | \u))/llzul et
' in the by, With corpeey Preposition
“Thope yoy Micceed Betting whiyy Yoy Witng
(A)in ]
(Cy wity \(:{) of
1. Vil in e Blank wigy, the correeq fy, ol - _) “houg
R.:nlnni e WS picture, b Biven in the Present perfect tense ¢
TTA) dray '
(C) hay drawgy (1) d"Wn
.\ll)!fﬁta‘,;}\_ By

[Contd.




46 Change into passive voice:
Sonu has sung the songs wel),

(A) The songs are sung well by

Sony ) The well songs are sung by Sonu.
W T N ’ .
AC) The songs had been suno we e i s have been sung well by Sor
v . 2 well by Sonu, (D) [he song:s 2 ) .
47, Correet the folowing sentence . Sh Car.
¢ learng driving 4 -

(A) She is learning driving a (g, (1) She learns (o drive a Car
\AC) She learn for driving a Car (D) She lears 1o driving a Car
8. ldentify the subordinate clause b ”
y ‘ N ' the Siven sentence:
All that glitters is not gold,

(A) Adverb clause of manner B) Adverb clause of place
\/(,C) Adjective clause (D) Noun clause

19, Fill in the blank: He prefers Big Cl‘enlislry Pharmacy.
(A) than (B) to
AC) by ) with
50. Give one word for the following Phrase:
"The one who believes in existence of God."
(A) Theist \)Bj Atheism
(C) Agnosticist (D) Saint
51 Join the following sentence and make ope -
- T have seen the boy.
- The teacher punished him. L
(A) I have seen the boy that the teacher punished him.
(B) I have seen the boy whom the teacher pPunisheq,
(C) I have seen the boy whose the teacher punisheq,
\/(’K)The boy has been punished by teacher that I have scen.
52. Choose the correct option to complete the sentence in indirect speech:
Alice said, Dennis is sleeping now.
Alice said that Dennis then.
(A) is being slept (B) is sleeping
(C) was being slept a_AD) was sleeping
53. Choose the correct degree of comparison in the following sentence:
Raghuis taller than Robert but Rupinderis ____ still.
\,(//)(tall (B) more taller
(C) the tallest (D) taller
54.

Transform the following sentence in to Assertive sentence :
"Who does not know the Ow|?"

(A) Everyone knows the Owl, (B) Everyone knew the Owl

(C) Everyone does not know the Owl \/(6) Everyone is knowing the Owl

VIDFHW - 2023 - B | 9 - PTO. 4
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scntcncc:
Wi"

. the
. "] th
¢ subject flow®”

atify th :
Ider he sw (B) Swallows

34, T
advancinfs

"Sprinl!mr (D) None of the above
\/:2 :;::-:n‘g advancing ups © e cUP ATe associated with which game ?
5. Federation cul world ¢t (B) Volty Ban
~ (A) Tennis ) ) Cricket
() Basket Bal . i) 8 A5 3 9
s, Bsdusy, AT Lok (B) aidloiey
(A) &l D) (332
@UERAL L payis eclebratedon
57, Each year World Red Cro (B) 3 -
(A) May 8 (D) June 18
57 :fs)' :1?122{83 World Red Cross Day 62 o SR Hraquyy w14 69 ?
N (A) 84 "QB{IS A
(©) 289 WOLPY 18 gt
58. Famous sculptures depicting art of love built some time in 950-1¢
(A) Jama Masjid (B) Sun Temple
(C) Mahabalipuram Temple (D) Khajurahg

58, Quedl sou salad WRig Riedl 950-1050 AD €341 58 U £3)
(A) L W(xe (B) 3y 3ife3

(C) ueiotdly HleR (D) WA
59. Gravity setting chambers are used in industries to recove
(A) So,

(C) Suspended particulate articles

P el MDA QBN Qn 13 g2 2 vlleadm
(A) So,

A Wy da 205

60, : N :
Hon. Guwaha High Court, the Judicatu
(A) Nagalang
(C) Assam

60. \
WH, ) SUPESY AN 5y 2
(A) Qg |

(C) 20y

MIDFRW - 2023 g
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Friction can be reduced by changing from
6l.

Rolling to sliding
(A) Sliding to rolling )

B . HY
(©) Potential energy to Kinetic energy :D) Dyn:lmlc to static
61, severesees A oedlH advr a2l asy et i
h (A) Aol 2 3o (B) 283 .
ACT 2 Gl R Gt (o 2 B
62. Fire temple is the place of worship of Which of the follo.wm,,
N (A) Taoism (B) Judflle]l
l (C) Parsi Religion - Zoroastrianism, (D) Shintoism
62. 2B 4l A suL e Yo 20 ¢ 9 r
(A) dizdlalle (B) agdl 4
0) wrll 43 - ARARRuRom ) Ao
63. Film and TV institute of India is locateq af
(A) Pune (B) Rajkot
(C) Kolkatta (D) Perambur
Wes  Bewad Adl §lRezye s SR sy 290 23 @ 7
(A) 4l (B) A% 512
) S5l (D) U162
64. During World War I1, when did Germany attack France?
(A) 1940 (B) 1942
(C) 1943 (D) 1944

64. ol [ g g2 {12 51 U2 s qrfi el 53¢ ¢l

) 1940 1942
(C) 1943 \\fg 1944
65. was

India’s first Technicolor Film in the early 19 .
(A) Jhansi Ki Rani - Sohrab Modi (B) Jh
(C) Mirza Ghalib - Sohrab Modj (D)1

1950w erasi-l a32u1an yoy sz Beay
(4) 3l A A~ g0 1

AE) Mt 201l — o304 Hig)

’ s F

(C) Mica

MRANL [ g SETERYEIN
(A) Ay

\/(Oiwus

MDFIw . 2023 .
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B e = e

cd 10 (;“iara(?

ot
67. How many Lok Sabha seats all?
i (B) 39
)26 (D) 17
(©) ) - sl‘“&a 97
67.  dppaui disauoudl szdl 483 Ry o
3 B30 ‘
(€) 26 (D) 1y
68. Find the value of X
4 7 2
& A4 6A
7 9 1 5
(A) 10 (B)y
(SIS AD) 7
68. 4 g )
7é9 ,A4 6A N e Boqj udl 7
(A) 10 S
©3 B)9
D)7
69. Find the valye of X )
(A)22
()10
69, ®
®®@ N de sl
%) 2 e
(C) 16
MDFy
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0. Which month is designated g “N lia?
Ationg) Month in India?
m N ion
(A) Augus utriti geptember
(C) October () November
70, ewaul s HRA 200U g aygyy Y o (mzcuu.i wda 8 ?
(A) A2 e REE
N A
(C) 52O 42
. Which village in Assam State j e

18 seleeteq , as “The best Tourism village of India™ in 2023,

(A) Monabarie (B) giswanath Ghat

(C) Kaziranga D) Majuli

T, BUREHAL S W BRAAL A Mgy Aay g e UMl 20D ?
(A) {woudl ) R a2
(€) s @) wzell

72. Where was the “International Lawyerg Conference-2023” inaugurated?
(A) Mumb‘l.l (B) New Delhi
(C) Chennai (D) Kolkata

7. “Seriuda dul 860 20237 Gegy 2 g od !

Wk gy Bed
(€) A1 (D) slastl
73. From the following pairs, showing Articje and contents, which pair is not cor
(A) 12 Article - Definition
(B) 14 Article — Equality before law
(C) 21A Article — Right of education .
(D) 24 Article — Freedom to manage rellglous affa“_s

73 dlsa 2 Aoifld [@ardl safadl AN WAL &S AL oy 8] ?
(A) 12 — cuval
(B) 14 — SI4EL AHE AHLAAL
—(C) 21A - Riaairtl ¢55
D) 24~ s onotdi-l aldae saug ad
74. Evaluate the statcments :-
1. Under Article 5S1A of Indian Constitution, the provisions o "f
2. Under Article 39A, equal justice and free legal aid is menti
(A) Only 1 is correct (B) Only 2 is
(C) Both 1 and 2 are correct (D) Both 1 and
74 DA sl asia. |

(A) HIA T U1y €9,
L/\()lm%zotwiubq@.

MDFHW -2023 - B |




it US s
"d"‘ I)l 0V lsi()n -
. IS mage " .
ident @ ¢ under which At le
- There shall he a Prest tele of Ingj,
75. wIhere sha ‘ "
Constitution? (B) 54
(A) 56 (D) 50
s i > Cllfg bil'{la
(€) 52 TR 00 5 o,
1 nau 2l T S s s3q0 sdedl ?
0 75, SR s RS (B) 54
()2 ¢ leaning Againg WAatiis
i —— of clevation of 2 Iml(fliqddt" g Vallis 60° yng footof a ladder is 4.6 meters
o . from wall. The length 01 ¥ ®
AWa ' ) dog
‘0 meter
(A) 2.3 meter 5 e
(D)9 Mmeter

(€) 7.8 meter o
Rt il bl 040 G el 60° 9 213 PRl oy el 4.6 W22

76. &2 O. 2 YR
Y DA dons sl sl ?

(A) 2.3 B)4.630
© 7.8 (D) 9.2
’ km/hr, cr .
27 A train running at the speed of 60 km rosses a pole in 9 seconds. What is the length of a
train?
(A) 120 meters (B) 180 meters
(C) 132 meters (D) 150 meters

77, 60 Ball/scusl s €lsedl 2 9 ASuL A5 WA w2 53 B. L 2l douS 22l 6L 7

(A) 120 Hl2? (B) 180 {22
\/(C) 132 022 (D) 150 22
18. A sum of money at simple rate of interest, amounts to Rs.815 in 3 vears and Rs.854 in 4 years.
The principal amount is
(A) Rs.630 (B) Rs.690
(C) Rs.698 (D) Rs.700
M e enyll ge el 25w 3 edui 3L 815243 4 anfy 3L 854 iy © dl yad s sedl el ?
(A) 3L 650 (B) 3. 690
(©31. 698~ (D) 31. 700
79. Avendor bl‘Ough(, at 6 for a rupce. How many fo- a rupee must he sell to gain 20%?
(r\) 3 (B) 4
(©)s (D) ¢
79. s q { oo 3 oA A 20% 15\ 3 . ?
g M3 1% 6 2L WAl R A 20% 8L WMadl iy q) ag 3t 1 ui ded) 2igl aadl w?
S 3 ABig
Q)5 (D) g

e ——

[(,‘untd.
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80. .‘\' fn-u_lll;:'::t: had some apples, He so1q 40%, apples and still has 420 apples. Originally he had
(A) 588 0
(C) 642 ”))700

S0. 215 50 AU A0%% ASA A2 oy, A wisy g20 28271 i 8. dl Al Wit 54 Laan 434 wdl 7
(A) 588 .
(C) 042 Dy 700

St. 66 cubic (:(‘I\Iilllt‘lcrs of silver iy drawy into 4 wire of 1. mm diameter. The lengiii@iihe wire in
meterswillbe :
B (B) 90
(C) 168 (D) 336

st 66 art A-dlller AL 1AL et quug opyaati 203 8 dl & awe-Al dows Fzen W22 o ?

(A)84 (B) 90
(C) 168 T (D) 336
82. Which of the number, from following, is not prime number.
(A) 31 (B) 61
omn (D) 91
82. QELuidl 56 wReuea v adl ? 5\ -
(A) 31 5 \/lf) 61 \((Q g \0O > .
(©) 71 oot 5 S
83. (112 x5%)=___ . Fillin the blank \ \
(A) 67000 (B) 70000
)( (D) 76000

\/ce) 72000

83. (112 x5%) 4 yeu 32 sl ?

(A) 67000 (B) 70000
AC) 72000 (D) 76000
84. Six bells commence tolling together at the invervals of 2,4, 6,8, 10 and 12 seconds respectively.

In 30 minutes, how many times do they toll together?

(A)4
(C) 16

84. otz ol avar] a3 520 v
g2l avid 0l a2l ?

(A)4

\/I)m

(B) 10
(D) 20
257l 2, 4, 6,8, 10247 12 Asm5etL 23 2 it ©. 30 BilRzul dxil

(B) 10
(D) 20

MDFHW -2023 - B |
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. pich is '"‘iﬂil)lc by 1% 9= aned 72 i
Rs. The preatest namber of 4 dIRI W WIS, 25, 40 and 75 is
(B) 940
()Y Bono
(C)Venn Oy 300
\ . a % p{‘ ls. 2"_ 25. . . " = . o
88, a1z i el sl A o8 3 A0 75 M) (Ao ) ?
(B)9
(A) 9000 \-'//' 400
: (D) 9800
(C) 9000 3:4:5 00 thete 1 o
S, Three numbers are in the ratio of 3 “rLCM is 2400. Their HCF is
(B) 89
t\) 40 )2
(C) 120 il Fe
So.  ANBA3:4: 5ol Y t EM2400 D ) Qi HeF B2l wil ?
(A) 40 : (B) 80
(©) 120 x (D) 209
sati f1,5;
87. A man has Rs.480 in the dcnoml““"":c(: ol', and 10 Rs. notes. The number of each denominate
notes is equal. What is the total num notes he hag
(A) 90 (B) 75
(C) 60 (D) 39
87.  AscalfawA 3L 4800 F 3L 1,5 %110 U 8 30l 3y A2l . 2 qoAsilui AL wd 34 52
le wel ?
X (A) 90 (B) 75
(C) 60 (D) 30
88. Find the number 3,5, 8, 13, 22,
(A) 39 (B) 42
(C) 44 (D) 46
88. o alMl. 3,5,8, 13,22,
(X) 39 (B) 42
(C) 44 (D) 46
8. 9 7 8
4 8 3 Find the number for X
2 X 7
(A)5 (B) &

(€))7 (D) None of the above

89, LA
1K 4 et 3 X -iuc—q allHl.

2 X 7
A )6 ‘
©)7 e wdl saufda Ao WA As we )

MDEHW _yga3 .3 |
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90, 3 pumps working for 8 hys, ad

work to empty a tank in | (I:w':‘y‘ can empty » gank i 2 days. How many hours a day 4 pumps
(A) 12
()8 (B) 10
90 3 [Bauni 8 55 51 5391 3 5 meé _
g SRS ‘ 5 2102 Rgqag vyl 53 ©- A 2L (Razni vidl 52l éla a4
Wl B2 SALS Y Aeaq o S99 i vudl 52
(M12 :
\/()(‘) N (1) 10
91 Running at the same speed, ¢ M) 6
’ " " *C 6 identical macns ? -oduce 270 per minute. At this rate how
many bottles could, 10 sucl lll:lchil::: |i .',"f;'c"f"cic?,':rz:;:.(c:-tf I
. minu :
(A) 1500 "(B) D
(€) 2700 (D) 10800

o1 At (R €2 A6 MO UR BBz 4y 570 oiizad Genert 9 23 6. i 10 walll 4 QP2
32l oliedr Gewer 533 ?
(A) 1500 (B) 1600

\ AL 2700 (D) 10800

A boat can travel at the speed of 13 km/hr jn still water. If the speed of stream is 4 km/hr, then
the time taken to travel dam stream wj) be /hrs.

(A) S Hrs.
(C) 3 Hrs.

92.

(B) 4 Hrs.
(D) 2 Hrs.

92. s ollz R wellni 13 (330l seusl sudl gy @, op wane-Nl sy 4 Balljsens-fl $lu dl 4€-u el
A8 68 (3L stuy dA 2l uHu @l ? ' ~

AT S sl \OéBH sl
(C) 3 515 (D) 2 5c15
93. In order to obtain income of Rs.6500 per year from 10% stock at Rs.96 market price, the
investment needed is
(A) Rs.31,000 (B) Rs.62,400
(C) Rs.65,000 (D) Rs.96,000

03. 30 6500 -0 s cagN 2tiets At 10% 225 3 3N eaon (ot 31 96 8 dvu Jeeu 1. Asan ASA ?

(A) 3L 31,000 \_ABT 2. 62,400

(C) 3L 65,000 (D) 31. 96,000
94. ODD man out :-
1,3,5,11,14,17,21 é 5"00 \O‘)/"
(A) 21 (B) 17
(C) 14 (D) 11 qé

94, QA1 04 56 2vut wloy 44 ?
1,3,5,11,14,17,21

(A)21 (B) 17
) 14 (D11
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131,261 ——o

g 1) B v Bl 6. 33, 65.
93 Fill in the blank 16 B) 521
A) 523
= (D) 721
(C)613 '
\ £ 131,260 ——
03 viedl 27U Y31 16, 33,63, 131+
. \_Bya
o (D) 721
{(C)o13 S mi
% A person crosses 000 mtrs. distance W NUtes, Whag g pis speed in KM per Hour?
(A) 3.6 KM (B)7.2 kKm
(C) 8.4 KM (D) 10.00 Km
06, 3 culBn 600 M vida uiz MALH AR B2 0. dl g geypn 3 52¢f a2 sifl usal ?
(A) 3.6 (330 (B) 7.2 (2]
N A0 8.4 6 (D) 10.00 (339
97 Aand B invest in a business with profitratio of 3:2_yrse, profit to be given for charity purpose
and A gets Rs.855 then Bwill get
(A) 1425 (B) 1500
(C) 570 (D) 1000
97

A B qaai sien 50 3 ;2 AL el sl WA 450 53 . R 5% 451 4ui
1 3L 855 Howdi la dl B A Jaai 3L HouL el ?
(A) 1425
(C) 570

ACTER TR

(B) 1500
(D) 1000

98. The sum of age of 5 children born at the interval of 3 years each, is 50 years then the age of
Youngest child is
(A) 4 years (B) 8 years
(C) 10 years (D) 12 years
98. Ui UL GHRALARAGN 50 € ) 24 A2 o+ 40y e A2v M wiAdl 28da 8. 2y ool
AL A sunsl Gu Sedl ey ?
(A4 (B) 8 ay
\/(:) 10 (D) 12 @
(2.39)% =(1.61)>
99. Find the value of “3:}*‘)—_*].—(,‘1'*' {)
- (A)2 (B) 4
/ (C)o (D)8
(2.39)° —(1.61)° i
P ey QMM
29 2.39-1.601 A
(A)2
(C)o6

MDEFHW - 2023 - B |
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L hhaf ) \ U
{00 What is the decimal of an hoy
I i% a
S 8econ
a4z

(A) 0.0025
(C) 0.00027 (B) 0.0256
100, s sensHdl B2, AU B2eq qpy g (D) 0.0027
?
(A) 0.0025 ‘
(C) 0.00027 (B) 0.0256
(D) 0.0027
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